

Geometric Continuity of Curves and Surfaces

by Przemysław Kiciak

Errata

p. xv₃: is $\boxed{\text{highest common factor}}$, ought to be $\boxed{\text{highest factor}}$.

p. 22⁷: is $\boxed{\sum_{j=0}^n a_j g_{i+j, j+n+1}}$, ought to be $\boxed{\sum_{j=0}^n a_j g_{i+j, i+n+1}}$.

p. 23^{2,3}: is

$$\begin{aligned} s_{i, i+n} &= c_i \tilde{q}_{i, i+n} + \sum_{j=i+1}^{i+n-1} y_{i, j-i+1} h_{j, i+n}, \\ t_{i, i+n} &= c_i \tilde{p}_{i, i+n-1} + \sum_{j=i+1}^{i+n-1} y_{i, j-i+1} g_{j, i+n-1}. \end{aligned}$$

ought to be

$$\begin{aligned} s_{i, i+n} &= c_i \tilde{q}_{i, i+n} + \sum_{j=i+1}^{i+n-1} y_{i, j-i+1} h_{j, i+n}, \quad \text{where } \tilde{q}_{i, i+n} = K_{i+n}(\tilde{p}_{i, i+n}), \\ t_{i, i+n} &= c_i \tilde{p}_{i, i+n-1} + \sum_{j=i+1}^{i+n-1} y_{i, j-i+1} g_{j, i+n-1}, \quad \text{where } \tilde{p}_{i, i+n-1} = K_{i+n}(\tilde{p}_{i, i+n-1}). \end{aligned}$$

p. 44³: is $\boxed{\text{Equation (3.6)}}$, ought to be $\boxed{\text{Equation (3.7)}}$.

p. 57, Figure 3.9: is $\boxed{c_2}$, ought to be $\boxed{\tilde{c}_2}$ (twice).

p. 71¹¹: is $\boxed{\mathbf{q}(s, u) \text{ and } \mathbf{r}(v, t)}$, ought to be $\boxed{\mathbf{q}(v, t) \text{ and } \mathbf{r}(u, s)}$.

p. 76⁷: is

$$\underline{p}_{i, u_{i+1}} = b_{i, 1} \bar{q}_{i, u_i} + c_{i, 1} \bar{q}_{i, s_i}, \quad (4.15)$$

ought to be

$$\underline{p}_{i, u_{i+1}} = b_{i, 1} \underline{q}_{i, u_i} + c_{i, 1} \underline{q}_{i, s_i}, \quad (4.15)$$

p. 127₁₂: is $\boxed{\text{choosen}}$, ought to be $\boxed{\text{chosen}}$.

p. 172₆: is $\boxed{f_t \text{ and } g_u}$, ought to be $\boxed{f_t^n \text{ and } g_u^n}$.

p. 204₁: is

$$a_{i+1} = p_i(u_{i+1}) = \frac{c_{i+1} - c_i}{6} h_i^2 + \frac{c_i}{2} h_i^2 - b_i h_i + a_i.$$

ought to be

$$a_{i+1} = p_i(u_{i+1}) = \frac{c_{i+1} - c_i}{6} h_i^2 + \frac{c_i}{2} h_i^2 + b_i h_i + a_i.$$

p. 205₈: is $a < u_1 < \dots < u_N = b$, ought to be $a < u_1 < \dots < u_N = b$.

p. 206₁₀: is $e'(t) < -2M_2 h_i$, ought to be $e'(u) < -2M_2 h_i$.

p. 207^{5,6}: is

$$\begin{aligned} \frac{h_{i-1}}{h_{i-1} + h_i} d_{i-1} + 2d_i + \frac{h_i}{h_{i-1} + h_i} d_{i+1} = \\ f[u_{i-1}, u_i, u_{i+1}] - \frac{h_{i-1}}{h_{i-1} + h_i} f''(u_{i-1}) - 2f''(u_i) - \frac{h_i}{h_{i-1} + h_i} f''(u_{i+1}). \end{aligned}$$

ought to be

$$\begin{aligned} \frac{h_{i-1}}{h_{i-1} + h_i} d_{i-1} + 2d_i + \frac{h_i}{h_{i-1} + h_i} d_{i+1} = \\ 6f[u_{i-1}, u_i, u_{i+1}] - \frac{h_{i-1}}{h_{i-1} + h_i} f''(u_{i-1}) - 2f''(u_i) - \frac{h_i}{h_{i-1} + h_i} f''(u_{i+1}). \end{aligned}$$